BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425
ltem	<u>Subtotal</u>	Total Cost	Total Cost
1 Location 2: 6450 Gilbert Lake Road	\$52,055.99 *	\$53,031.82	\$84,238.22 *
2 Location 3: 5390 Lahser at Winlane	\$19,216.64 *	\$25,448.82	\$74,457.24 *
3 Location 4: 3381 Squirrel	\$16,741.75 *	\$13,642.82 *	\$63,782.28
4 Location 5: 4681 Charing Cross	\$3,532.67 *	\$5,436.80 *	\$15,587.80 *
5 Location 6: Kensington Road at 730 Ivy Lane	\$62,255.53 *	\$59,609.82	\$107,738.04
6 Location 7: Franklin Rd at 5120 Clarendon Crest	\$6,834.68 *	\$9,709.82	\$28,402.92
7 Location 8: North Hills Middle School at 3456 Lahser	\$80,723.89 *	\$95,332.82	\$82,887.60
8 Location 9: 14 Mile Road at Bingham Road	\$92,856.18 *	\$109,886.82	\$203,358.82
9 Location 10: Hickory Grove at London Wall	\$33,947.78 *	\$35,915.82	\$67,154.93 *
10 Location 11: Walnut Lake Road at Indianwood Trail	\$31,993.80 *	\$37,357.82	\$57,407.63
11 Location 12: Lahser Road at Long Lake	\$43,188.79 *	\$51,864.82	\$104,006.38
Total Amount Base Bid	\$443,347.70 *	\$497,238.00 *	\$889,021.86 *

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 2: 6450 Gilbert Lake Road

ltem	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
1 Mobilization - Max 5%	1 LS	\$800.00	\$800.00	\$2,500.00	\$2,500.00	\$800.00	\$800.00
2 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
3 Maintaining Traffic	1 LS	\$4,100.00	\$4,100.00	\$4,500.00	\$4,500.00	\$15,000.00	\$15,000.00
4 Erosion Control, Silt Fence	95 Lft	\$4.14	\$393.30 *	\$3.00	\$285.00	\$3.25	\$308.75
5 Remove Tree, 19"-36" Dia.	1 EA	\$5,853.06	\$5,853.06	\$4,300.00	\$4,300.00	\$10,000.00	\$10,000.00
6 Safety Path, Rem, Full Depth	477 Sft	\$7.14	\$3,405.78 *	\$3.00	\$1,431.00	\$25.93	\$12,368.61
7 Segmental Block Retaining Wall, Remove + Salvage	267 Sft	\$24.48	\$6,536.16 *	\$63.00	\$16,821.00	\$41.00	\$10,947.00
8 Segmental Block Retaining Wall, Reconstruct w/ Salvaged Tri-Fa	267 Sft	\$59.16	\$15,795.72 *	\$43.00	\$11,481.00	\$81.87	\$21,859.29
9 Safety Path, Conc, 4 inch	53 Sft	\$14.11	\$747.83 *	\$8.00	\$424.00	\$7.00	\$371.00 *
10 Safety Path, Conc, 6 inch	424 Sft	\$16.00	\$6,784.00	\$9.00	\$3,816.00	\$9.00	\$3,816.00
11 Station Grading, Location No. 2	1 STA	\$1,703.35	\$1,703.35	\$935.00	\$935.00	\$0.00	\$0.00
12 Foundation Drain, 4 inch	81 Lft	\$5.36	\$434.16 *	\$13.00	\$1,053.00	\$4.50	\$364.50
13 Turf Establishment, Performance	73 Syd	\$2.52	\$183.96 *	\$23.00	\$1,679.00	\$6.25	\$456.25
14 Class III Sand Backfill	5 Cyd	\$157.37	\$786.85 *	\$25.00	\$125.00	\$93.00	\$465.00
15 RCOC Permit Allowance	1 LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
16 Observation Crew Days	5 Days	\$800.00	\$4,000.00	3	\$2,400.00	9	\$7,200.00
Outstated Lagration 0		_	<u> </u>	-	<u> </u>	_	***

Subtotal Location 2

\$52,055.99 *

\$53,031.82

\$84,238.22 *

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 3: 5390 Lahser at Winlane

<u>Item</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
17 Mobilization - Max 5%	1 LS	\$600.00	\$600.00	\$1,200.00	\$1,200.00	\$800.00	\$800.00
18 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
19 Maintaining Traffic	1 LS	\$500.00	\$500.00	\$4,500.00	\$4,500.00	\$7,500.00	\$7,500.00
20 Erosion Control, Silt Fence	20 Lft	\$4.35	\$87.00 *	\$3.00	\$60.00	\$50.63	\$1,012.60
21 Safety Path, Rem, Full Depth	72 Sft	\$3.99	\$287.28 *	\$3.00	\$216.00	\$50.63	\$3,645.36
22 Segmental Block Retaining Wall, Remove + Replace	52 Sft	\$65.58	\$3,410.16 *	\$63.00	\$3,276.00	\$50.63	\$2,632.76
23 Safety Path, Conc, 4 inch	72 Sft	\$13.39	\$964.08 *	\$8.00	\$576.00	\$50.63	\$3,645.36
24 Fence, Wood Split Rail, Remove	258 Lft	\$6.00	\$1,548.00 *	\$11.00	\$2,838.00	\$42.39	\$10,936.62
25 Fence, Wood Split Rail, Install	258 Lft	\$33.24	\$8,575.92 *	\$29.00	\$7,482.00	\$145.34	\$37,497.72
26 Temporary Concrete Path Protection	1 EA	\$100.00	\$100.00	\$500.00	\$500.00	\$500.00	\$500.00
27 Fence Restoration, Turf Establishment	258 Ft	\$3.21	\$828.18 *	\$3.00	\$774.00	\$10.00	\$2,580.00 *
28 Turf Establishment, Performance	15 Syd	\$12.28	\$184.20 *	\$23.00	\$345.00	\$15.00	\$225.00
29 RCOC Permit Allowance	1 LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
30 Observation Crew Days	2 Days	\$800.00	\$1,600.00	3	\$2,400.00	4	\$3,200.00

Subtotal Location 3

\$19,216.64 *

\$25,448.82

\$74,457.24 *

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 4: 3381 Squirrel

<u>ltem</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
31 Mobilization - Max 5%	1 LS	\$650.00	\$650.00	\$750.00	\$750.00	\$800.00	\$800.00
32 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$100.00	\$100.00	\$0.00	\$0.00
33 Maintaining Traffic	1 LS	\$1,000.00	\$1,000.00	\$300.00	\$300.00	\$4,500.00	\$4,500.00
34 Erosion Control, Silt Fence	86 Lft	\$3.98	\$342.28 *	\$3.00	\$258.00	\$3.25	\$279.50
35 Erosion Control, Inlet Protection Fabric Bag	1 EA	\$119.66	\$119.66	\$100.00	\$100.00	\$325.00	\$325.00
36 Segmental Block Retaining Wall, Remove + Replace	61 Sft	\$62.36	\$3,803.96 *	\$63.00	\$3,843.00	\$245.90	\$14,999.90
37 Safety Path, Conc, 4 inch	131 Sft	\$9.60	\$1,257.60 *	\$11.00	\$1,441.00	\$83.46	\$10,933.26
38 Fence, Wood Split Rail, Remove	131 Sft	\$41.82	\$5,478.42 *	\$29.00	\$3,799.00	\$146.00	\$19,126.00
39 Fence, Wood Split Rail, Install	1 Sft	\$100.00	\$100.00	\$500.00	\$500.00	\$0.00	\$0.00
40 Temporary Concrete Path Protection	138 Sft	\$4.22	\$582.36 *	\$3.00	\$414.00	\$74.40	\$10,267.20
41 Fence Restoration, Turf Establishment	7 STA	\$158.61	\$1,110.27	\$30.00	\$210.00	\$74.40	\$520.80
42 Turf Establishment, Performance	2 Lft	\$82.69	\$165.38	\$23.00	\$46.00	\$74.40	\$148.80
43 RCOC Permit Allowance	<u>1</u> LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
44 Observation Crew Days	2 Days	\$800.00	\$1,600.00	2	\$1,600.00	2	\$1,600.00

Subtotal Location 4

\$16,741.75 *

\$13,642.82 *

\$63,782.28

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 5: 4681 Charing Cross

<u>Item</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
45 Mobilization - Max 5%	1 LS	\$250.00	\$250.00	\$250.00	\$250.00	\$0.00	\$0.00
46 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
47 Maintaining Traffic	1 LS	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
48 Erosion Control, Inlet Protection Fabric Bag	1 EA	\$119.66	\$119.66	\$100.00	\$100.00	\$325.00	\$325.00
49 Segmental Block Retaining Wall, Remove + Replace	15 Sft	\$82.57	\$1,238.55 *	\$63.00	\$945.00	\$833.00	\$12,495.00
50 Temporary Concrete Path Protection	1 EA	\$100.00	\$100.00	\$500.00	\$500.00	\$0.00	\$0.00
51 Cedar Shredded Bark Mulch	2 CYD	\$146.33	\$292.66	\$30.00	\$60.00	\$93.00	\$186.00
52 RCOC Permit Allowance	1 LS	\$281.80	\$281.80	\$281.80	\$281.80	\$281.80	\$281.80
53 Observation Crew Days	1 Days	\$800.00	\$800.00	1	\$800.00	1	\$800.00
Subtotal Location 5			\$3,532.67 *	-	\$5,436.80 *	_	\$15,587.80 *

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 6: Kensington Road at 730 lvy Lane

<u>ltem</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
54 Mobilization - Max 5%	1 LS	\$800.00	\$800.00	\$2,800.00	\$2,800.00	\$800.00	\$800.00
55 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
56 Maintaining Traffic	1 LS	\$2,100.00	\$2,100.00	\$6,000.00	\$6,000.00	\$16,500.00	\$16,500.00
57 Erosion Control, Silt Fence	23 Lft	\$4.80	\$110.40 *	\$3.00	\$69.00	\$3.25	\$74.75
58 Erosion Control, Inlet Protection Fabric Bag	2 Ea	\$126.05	\$252.10 *	\$100.00	\$200.00	\$325.00	\$650.00
59 Safety Path, Rem, Full Depth	880 Sft	\$5.62	\$4,945.60 *	\$3.00	\$2,640.00	\$12.40	\$10,912.00 *
60 Remove, Salvage, Reinstall Sign	2 Ea	\$73.50	\$147.00	\$100.00	\$200.00	\$0.00	\$0.00
61 Drainage Structure Reconstruct	1 Ea	\$378.14	\$378.14	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
62 Segmental Block Retaining Wall, Remove + Salvage	215 Sft	\$36.37	\$7,819.55 *	\$63.00	\$13,545.00	\$50.84	\$10,930.60 *
Segmental Block Retaining Wall, Reconstruct			*				
63 w/ New Flat Face Block	215 Sft	\$86.41	\$18,578.15	\$55.00	\$11,825.00	\$183.13	\$39,372.95 *
64 Safety Path, Conc, 6 inch	880 Sft	\$14.00	\$12,320.00	\$9.00	\$7,920.00	\$9.00	\$7,920.00
65 Station Grading, Location No. 6	1 Sta	\$355.31	\$355.31	\$935.00	\$935.00	\$0.00	\$0.00
66 Foundation drain, 4 inch	62 Lft	\$20.68	\$1,282.16 *	\$13.00	\$806.00	\$4.58	\$283.96
67 Drain Connection PVC Pipe, 6 inch	14 Lft	\$55.49	\$776.86 *	\$22.00	\$308.00	\$10.00	\$140.00
68 Drainage Structure Tap	1 Ea	\$553.10	\$553.10	\$500.00	\$500.00	\$1,500.00	\$1,500.00
69 Turf Establishment, Creeping Myrtle 6 in. OC	62 Syd	\$67.87	\$4,207.94 *	\$90.00	\$5,580.00	\$78.58	\$4,871.96
6A Crushed Limestone, w/			*				
70 New Geotextile Weed Barrier, Remove + Replace	20 Syd	\$114.87	\$2,297.40	\$30.00	\$600.00	\$150.00	\$3,000.00
71 RCOC Permit Allowance	1 LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
72 Observation Crew Days	6 Days	\$800.00	\$4,800.00	4	\$3,200.00	10	\$8,000.00
Subtotal Location 6			\$62,255.53 *		\$59,609.82	<u> </u>	\$107,738.04 *

Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425
	5170 W. Grand River Ave. Fowlerville, MI 48836	5170 W. Grand River Ave.57151 Deer Creek CourtFowlerville, MI 48836Washington, MI 48094

Location 7: Franklin Rd at 5120 Clarendon Crest

<u>Item</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
73 Mobilization - Max 5%	1 LS	\$250.00	\$250.00	\$450.00	\$450.00	\$0.00	\$0.00
74 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
75 Maintaining Traffic	1 LS	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
76 Erosion Control, Silt Fence	26 Lft	\$3.95	\$102.70 *	\$3.00	\$78.00	\$3.25	\$84.50
77 Safety Path, Rem, Full Depth	72 Sft	\$3.99	\$287.28 *	\$3.00	\$216.00	\$106.53	\$7,670.16
78 Segmental Block Retaining Wall, Remove + Replace	64 Sft	\$52.57	\$3,364.48 *	\$63.00	\$4,032.00	\$106.53	\$6,817.92
79 Safety Path, Conc, 4 inch	72 Sft	\$13.39	\$964.08 *	\$8.00	\$576.00	\$106.53	\$7,670.16
80 Temporary Concrete Path Protection	1 Ea	\$100.00	\$100.00	\$500.00	\$500.00	\$0.00	\$0.00
81 Turf Establishment, Performance	12 Syd	\$15.36	\$184.32 *	\$23.00	\$276.00	\$106.53	\$1,278.36
82 RCOC Permit Allowance	1 LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
83 Observation Crew Days	1 Days	\$800.00	\$800.00	1	\$800.00	2	\$1,600.00
Subtotal Location 7		—	\$6,834.68 *	-	\$9,709.82		\$28,402.92

BID TABULATION	
2025 RETAINING WALL PROGRAM Green Up Landscape Group Italia Construction, Inc. All Brick De	sign, Inc.
BLOOMFIELD TOWNSHIP 5170 W. Grand River Ave. 57151 Deer Creek Court 33620	Lipke St.
OAKLAND COUNTY, MICHIGAN Fowlerville, MI 48836 Washington, MI 48094 Clinton Tow	nship, MI
ADDENDUM NO. 1 Office: (517) 223-2070 Office: (586) 677-1697 Office (833) 2	232-7425

Location 8: North Hills Middle School at 3456 Lahser

<u>ltem</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
84 Mobilization - Max 5%	1 LS	\$800.00	\$800.00	\$3,900.00	\$3,900.00	\$800.00	\$800.00
85 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
86 Maintaining Traffic	1 LS	\$3,100.00	\$3,100.00	\$6,000.00	\$6,000.00	\$10,500.00	\$10,500.00
87 Erosion Control, Silt Fence	200 Lft	\$3.23	\$646.00 *	\$3.00	\$600.00	\$3.25	\$650.00
88 Erosion Control, Inlet Protection Fabric Bag	1 EA	\$119.66	\$119.66	\$100.00	\$100.00	\$325.00	\$325.00
89 Safety Path, Rem, Full Depth	1170 Sft	\$5.04	\$5,896.80 *	\$3.00	\$3,510.00	\$9.35	\$10,939.50
90 Segmental Block Retaining Wall, Remove + Salvage	537 Sft	\$20.95	\$11,250.15 *	\$63.00	\$33,831.00	\$20.37	\$10,938.69
91 Segmental Block Retaining Wall, Reconstruct w/ Salvaged Tri-Face	537 Sft	\$55.60	\$29,857.20 *	\$43.00	\$23,091.00	\$40.75	\$21,882.75
92 Safety Path, Conc, 4 inch	1085 Sft	\$12.00	\$13,020.00	\$8.00	\$8,680.00	\$7.00	\$7,595.00
93 Safety Path, Conc, 6 inch	85 Sft	\$14.00	\$1,190.00	\$9.00	\$765.00	\$9.00	\$765.00
94 Station Grading, Location 8	2 EA	\$897.38	\$1,794.76	\$935.00	\$1,870.00	\$0.00	\$0.00
95 Foundation Drain, 4 inch	182 Lft	\$14.04	\$2,555.28 *	\$13.00	\$2,366.00	\$4.58	\$833.56
96 Drain Connection PVC Pipe, 6 inch	14 Lft	\$56.37	\$789.18 *	\$22.00	\$308.00	\$10.00	\$140.00
97 Drainage Structure Tap	1 EA	\$553.10	\$553.10	\$500.00	\$500.00	\$1,500.00	\$1,500.00
98 Rip Rap, Plain	9 Syd	\$73.81	\$664.29 *	\$99.00	\$891.00	\$54.14	\$487.26
99 Turf Establishment, Detention Basin Mix	75 Syd	\$5.67	\$425.25 *	\$23.00	\$1,725.00	\$54.14	\$4,060.50
100 Turf Establishment, Performance	118 Syd	\$2.80	\$330.40 *	\$23.00	\$2,714.00	\$54.14	\$6,388.52
101 RCOC Permit Allowance	<u>1</u> LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
102 Observation Crew Days	9 Days	\$800.00	\$7,200.00	4	\$3,200.00	6	\$4,800.00

Subtotal Location 8

\$80,723.89 *

\$95,332.82

\$82,887.60 *

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 9: 14 Mile Road at Bingham Road

<u>Item</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
103 Mobilization - Max 5%	1 LS	\$800.00	\$800.00	\$4,900.00	\$4,900.00	\$2,400.00	\$2,400.00
104 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
105 Maintaining Traffic	1 LS	\$2,000.00	\$2,000.00	\$7,500.00	\$7,500.00	\$27,000.00	\$27,000.00
106 Erosion Control, Inlet Protection Fabric Bag	1 EA	\$119.66	\$119.66	\$100.00	\$100.00	\$325.00	\$325.00
107 Saw Cutting, Pvmt-Full Depth	67 Lft	\$10.46	\$700.82 *	\$3.00	\$201.00	\$15.00	\$1,005.00
108 Pavement Rem, Full Depth	44 Syd	\$36.23	\$1,594.12 *	\$3.00	\$132.00	\$79.54	\$3,499.76
109 Safety Path, Rem, Full Depth	1080 Sft	\$5.84	\$6,307.20 *	\$3.00	\$3,240.00	\$20.25	\$21,870.00
110 Curb and Gutter, Rem	32 Sft	\$18.90	\$604.80 *	\$33.00	\$1,056.00	\$20.25	\$648.00
111 Remove, Salvage, Reinstall Sign	2 EA	\$85.81	\$171.62	\$100.00	\$200.00	\$0.00	\$0.00
112 Drainage Structure Reconstruct	1 EA	\$378.14	\$378.14	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
113 Drainage Structure Cover EJIW 5105 Type MI	1 EA	\$2,858.82	\$2,858.82	\$800.00	\$800.00	\$1,500.00	\$1,500.00
114 Segmental Block Retaining Wall, Remove + Salvage	533 Sft	\$19.92	\$10,617.36 *	\$63.00	\$33,579.00	\$41.04	\$21,874.32
115 Segmental Block Retaining Wall, Reconstruct w/ Salvaged Tri-Face	533 Sft	\$55.90	\$29,794.70 *	\$43.00	\$22,919.00	\$87.94	\$46,872.02
116 Aggregate Base, 21AA, 8 inch	55 Syd	\$47.42	\$2,608.10 *	\$18.00	\$990.00	\$25.00	\$1,375.00
117 Concrete Curb Opening, Safety Path	9 Ft	\$43.20	\$388.80	\$43.00	\$387.00	\$100.00	\$900.00
118 Concrete Curb and Gutter, MDOT Detail Varies	23 Ft	\$61.00	\$1,403.00	\$43.00	\$989.00	\$200.00	\$4,600.00
119 Safety Path, Conc, 4 inch	1014 Sft	\$12.00	\$12,168.00	\$8.00	\$8,112.00	\$7.00	\$7,098.00
120 Safety Path, Conc, 6 inch	66 Sft	\$14.00	\$924.00	\$9.00	\$594.00	\$9.00	\$594.00
121 Detectable Warning Surface, 2 Ft. Wide	6 Ft	\$205.17	\$1,231.02 *	\$63.00	\$378.00	\$100.00	\$600.00
122 Station Grading, Location 9	2 EA	\$949.05	\$1,898.10 *	\$935.00	\$1,870.00	\$0.00	\$0.00
123 HMA 4EML	20 Ton	\$218.70	\$4,374.00	\$385.00	\$7,700.00	\$250.00	\$5,000.00
124 Foundation Drain, 4 inch	156 Lft	\$16.46	\$2,567.76 *	\$13.00	\$2,028.00	\$4.58	\$714.48
125 Drain Connection PVC Pipe, 6 inch	14 Lft	\$52.11	\$729.54 *	\$22.00	\$308.00	\$10.00	\$140.00
126 Drainage Structure Tap	1 EA	\$553.10	\$553.10	\$500.00	\$500.00	\$1,500.00	\$1,500.00
127 Turf Establishment, Performance	214 Syd	\$1.55	\$331.70 *	\$23.00	\$4,922.00	\$182.53	\$39,061.42
128 RCOC Permit Allowance	<u>1</u> LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
129 Observation Crew Days	9 Days	\$800.00	\$7,200.00	5	\$4,000.00	15	\$12,000.00
Subtotal Location 9			\$92,856.18 *	-	\$109,886.82	_	\$203,358.82

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 10: Hickory Grove at London Wall

<u>Item</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
130 Mobilization - Max 5%	1 LS	\$400.00	\$400.00	\$1,700.00	\$1,700.00	\$800.00	\$800.00
131 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
132 Maintaining Traffic	1 LS	\$2,200.00	\$2,200.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
133 Erosion Control, Silt Fence	35 Lft	\$3.96	\$138.60 *	\$3.00	\$105.00	\$3.25	\$113.75
134 Erosion Control, Inlet Protection Fabric Bag	1 EA	\$119.66	\$119.66	\$100.00	\$100.00	\$325.00	\$325.00
135 Safety Path, Rem, Full Depth	820 Sft	\$6.33	\$5,190.60 *	\$3.00	\$2,460.00	\$11.04	\$9,052.80
136 Safety Path, Conc, 4 inch	820 Sft	\$12.00	\$9,840.00	\$8.00	\$6,560.00	\$7.00	\$5,740.00
137 Fence, Wood Split Rail, Remove	170 Lft	\$8.82	\$1,499.40 *	\$11.00	\$1,870.00	\$11.04	\$1,876.80
138 Fence, Wood Split Rail, Install	170 Lft	\$40.71	\$6,920.70 *	\$29.00	\$4,930.00	\$148.23	\$25,199.10
139 Temporary Concrete Path Protection	1 EA	\$100.00	\$100.00	\$500.00	\$500.00	\$0.00	\$0.00
140 Fence Restoration, Turf Establishment	174 Lft	\$5.76	\$1,002.24 *	\$3.00	\$522.00	\$26.87	\$4,675.38
141 Rip Rap Plain	14 Syd	\$82.19	\$1,150.66 *	\$99.00	\$1,386.00	\$26.87	\$376.18 *
142 Drainage Fill, 6A Limestone, 6 inch	22 Syd	\$49.61	\$1,091.42 *	\$35.00	\$770.00	\$26.87	\$591.14
143 Turf Establishment, Performance + 4 inch topsoil	12 Syd	\$98.14	\$1,177.68 *	\$23.00	\$276.00	\$37.68	\$452.16
144 Turf Establishment, Performance	185 Syd	\$1.00	\$185.00 *	\$23.00	\$4,255.00	\$37.68	\$6,970.80
145 RCOC Permit Allowance	1 LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
146 Observation Crew Days	3 Days	\$800.00	\$2,400.00	4	\$3,200.00	4	\$3,200.00
Subtotal Location 10			\$33,947.78 *	_	\$35,915.82	_	\$67,154.93 *

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 11: Walnut Lake Road at Indianwood Trail

<u>Item</u>	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
147 Mobilization - Max 5%	1 LS	\$450.00	\$450.00	\$1,300.00	\$1,300.00	\$800.00	\$800.00
148 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
149 Maintaining Traffic	1 LS	\$1,800.00	\$1,800.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
150 Erosion Control, Silt Fence	168 Lft	\$3.31	\$556.08 *	\$3.00	\$504.00	\$3.25	\$546.00
151 Erosion Control, Inlet Protection Fabric Bag	1 EA	\$119.66	\$119.66	\$100.00	\$100.00	\$325.00	\$325.00
152 Temporary Concrete Path Protection	1 EA	\$100.00	\$100.00	\$500.00	\$500.00	\$0.00	\$0.00
153 Safety Path, Rem, Full Depth	840 Sft	\$6.35	\$5,334.00 *	\$3.00	\$2,520.00	\$11.04	\$9,273.60
154 Safety Path, Conc, 4 inch	840 Sft	\$12.00	\$10,080.00	\$8.00	\$6,720.00	\$7.00	\$5,880.00
155 Fence, Wood Split Rail, Remove + Salvage	139 Lft	\$11.09	\$1,541.51 *	\$13.00	\$1,807.00	\$11.04	\$1,534.56
156 Ornamental Fence System, Install	144 Lft	\$47.50	\$6,840.00 *	\$67.00	\$9,648.00	\$148.23	\$21,345.12
157 Temporary Concrete Path Protection	1 EA	\$100.00	\$100.00	\$500.00	\$500.00	\$0.00	\$0.00
158 Fence Restoration, Turf Establishment	144 Lft	\$7.37	\$1,061.28 *	\$3.00	\$432.00	\$26.87	\$3,869.28
159 Turf Establishment, Creeping Myrtle 6 inches OC	15 Syd	\$59.70	\$895.50 *	\$90.00	\$1,350.00	\$26.87	\$403.05
160 Turf Establishment, Performance	65 Syd	\$2.83	\$183.95 *	\$23.00	\$1,495.00	\$37.68	\$2,449.20
161 RCOC Permit Allowance	<u> </u>	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
162 Observation Crew Days	3 Days	\$800.00	\$2,400.00	4	\$3,200.00	4	\$3,200.00
Subtotal Location 11			\$31,993.80 *	_	\$37,357.82		\$57,407.63

BID TABULATION			
2025 RETAINING WALL PROGRAM	Green Up Landscape Group	Italia Construction, Inc.	All Brick Design, Inc.
BLOOMFIELD TOWNSHIP	5170 W. Grand River Ave.	57151 Deer Creek Court	33620 Lipke St.
OAKLAND COUNTY, MICHIGAN	Fowlerville, MI 48836	Washington, MI 48094	Clinton Township, MI
ADDENDUM NO. 1	Office: (517) 223-2070	Office: (586) 677-1697	Office (833) 232-7425

Location 12: Lahser Road at Long Lake

Item	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
163 Mobilization - Max 5%	1 LS	\$600.00	\$600.00	\$2,000.00	\$2,000.00	\$800.00	\$800.00
164 Color Audio -Video Route Survey	1 LS	\$250.00	\$250.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
165 Maintaining Traffic	1 LS	\$2,900.00	\$2,900.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
166 Erosion Control, Inlet Protection Fabric Bag	3 EA	\$119.66	\$358.98	\$100.00	\$300.00	\$325.00	\$975.00
167 Safety Path, Rem, Full Depth, Special	342 Sft	\$9.26	\$3,166.92 *	\$3.00	\$1,026.00	\$11.04	\$3,775.68
168 Safety Path, Conc, 4 inch	342 Sft	\$16.75	\$5,728.50 *	\$8.00	\$2,736.00	\$14.00	\$4,788.00
169 Fence, Wood Split Rail, Remove + Salvage	417 Lft	\$9.81	\$4,090.77 *	\$13.00	\$5,421.00	\$11.04	\$4,603.68
170 Ornamental Fence System, Install	420 Lft	\$46.30	\$19,446.00 *	\$67.00	\$28,140.00	\$148.23	\$62,256.60
171 Fence Restoration, Turf Establishment	420 Lft	\$3.49	\$1,465.80 *	\$3.00	\$1,260.00	\$37.68	\$15,825.60
172 Temporary Concrete Path Protection	1 EA	\$100.00	\$100.00	\$500.00	\$500.00	\$0.00	\$0.00
173 RCOC Permit Allowance	1 LS	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82	\$281.82
174 Observation Crew Days	6 Days	\$800.00	\$4,800.00	4	\$3,200.00	4	\$3,200.00
Subtotal Location 12			\$43,188.79 *	_	\$51,864.82		\$104,006.38